Technical Information

B Calculation of P/ V /PV value

Radial journal
oneway rotation

P N/mm2[kgf/cm2]

p w {102W}

“odxL , | pdxL
Load W : N {kgf}

[.D.@pd: mm
Length L :mm

Case:1
[.D. 20mm, length 1T0mm at
1000N journal load.

1000

V m/s[m/mim]

V=n ¢d n {n ¢d n}

108 108

Rotating speed n :s7! {rom}
[.D.@pd: mm

Case:2
[.D. 20mm, rotating speed
120rpm.

M=O. 126 (m/s)

PV N/mm2-m/s[kgf/cm2m/mim]

~ nWhn { mnWhn }
PV 103xL 10xL
Load W : N {kgf}
Rotating speed n :s7! {rom}
Length L : mm
[.D.@pd: mm
Case:3

I.D. 20mm, length 10mm, rotating
speed 120rpm, 1000N journal load.

mx20X1000%2 =0.63 (\\/mm2m/s)

= 2
50x10 2 V) T0° T09%20% 100
el o W {102W} yogded {nq)dc@} oy Wodco { nWodco }
g/ t - ¢odxL , { pdxL 103 , (180x1083 108x¢pdxL, 118x102x¢dxL
Load W : N {kgf} Oscillating cycle speed ¢ @ 7! {cpm} Load W : N {kgf}
[.D.@pd: mm Oscillating angle 6 :rad {°} Cycle speed c :s7! {cpm}

Washer

Thrust motion

v
W, 1
'y
©
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Reciprocation

P N/mm2[kgf/cm2]

Rotation
A | | S
mx(pD2—pd?) ,

{ 400w }
x(pD2—pd2)

Oscillation
p-— AW
mx(pD2—pd?) ,

{ 400w }
x(pD2—pd2)

Load W : N {kgf}

[.D.pd: mm
O0.D.¢D: mm

P N/mm2[kgf/cm2]

oo W ,{102W}

BxL BxL
Load W: N tkgf}

Length L :mm
Width B : mm

V m/sec[m/mim]
Rotation
m¢Dn

V="T07 |

(o

Oscillation

_¢Dch
V= 103,

{01001

Rotating speed n: s~ ! {rom}
Cycle speed c : s~ {cpm}
Oscillating angle 8 :rad { ° }
O0.D.D:mm

V m/sec[m/mim]
_2c¢S

2c¢c S}
V="90 { 10°
Cycle speed ¢ s~ {cpm}
Stroke distance S: mm

Length L :mm [.D.@pd: mm Oscillating angle 8 :rad {°}
Length L :mm
L I.D. ¢d: mm
Reclprocation oo W {102W} yo 268 {208} py-2Wes { Wes }
__‘__ ¢dxL , [ pdxL 103 103 103x¢pdxL , | 5x¢pdxL
Load W N {kgf} | Reciprocation 5: g-1 {cpm) Load W : N {kef}
[.D.@pd: mm cycle speed Cycle speed ¢ :s7! {cpm}
Length L :mm Stroke distance S: mm Stroke distance S @ mm

[.D.@pd: mm
Length L : mm

PV N/mm2-m/s [kgf/cm2-m/mim]

Rotation
~ 4Wo¢Dn
PV = 03x (9 D?—0d?)
{ 400 W ¢Dn }
103 (pD2—¢pd?)
Oscillation
_ _4W¢Dch
PV= 0% (¢D%—pdd T |
{ 400 W oD c O }
180x103% (¢pD2—¢pd?)

Load W : N t{kgf}
Rotating speed n :s”! {rpm}
Cycle speed c :s7!{cpm}
Oscillating angle 8 :rad{°}
.D. ¢d : mm
O0.D. oD : mm

PV N/mm2-m/s [kgf/cm2-m/mim]

_2WceS {WcS}

PV 103xBxL , |5xBxL
Load W : N {kgf}
Cycle speed ¢ : s7! {cpm}
Stroke distance S :mm
Length L :mm
Width B : mm
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